A £ 0l & AF & S

Al A

2A: SXALE
Hm: Lol=x =X
CHRl: THOH-Ql AMEIONE Xl (12l M2
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SXIAFE 218,517,513 180, 189,993 38,327,520
= 176,059, 107
= 3,342,471
Altl 31,701,225
sl 7,414,710
LoI=X & 194,115,221 159, 163,259 34,951,962
= 163,153,419
= 3,342,471
Alt| 22,052,924
-4 5,566,407
MOtEQl AEorE X 182,917,289 150,933,489 31,983,800
= 159,586,454
ax 3,342,471
Altl 17,336,321
=l 2,652,043
Jl=3 X2 177,310,288 145,980,717 31,329,571
= 159,586,454
Altl 15,951,451
sl 1,772,383
301 LPENZ 177,310,288 145,980,717 31,329,571
= 159,586,454
Albl 15,951,451
-4l 1,772,383
01 Al B& X2 (2 REETHA) 177,310,288 145,980,717 31,329,571
OPIES = 177,310,288,000& 177,310,288
= 159,586,454
AlBI 15,951,451
-4l 1,772,383
Z2AY RES4 247,958 247,958 0
Altl 173,571
sl 74,387
307 212+01™ 247,958 247,958 0
Altl 173,571
=l 74,387
05 QIZtRIEr S 247,958 247,958 0
OZ2AY Raz4l 247,958,000& 247,958
Altl 173,571
=4l 74,387
HAS THIOHEQIAANE 200,562 200,562 0
Alt| 140,3%
-4 60,168
307 212+01 ™ 200,562 200,562 0
Altl 140,3%




A SXAMS D
Hm: Lol=x =X
Rl TOM-Ql MEOLY X|®l (Shol: % 2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
-l 60,168
05 git?(& = 200,562 200,562 0
ORAS THIH=O! AAHHE
200,562,000 200,562
Albl 140,3%4
- 60,168
SOE LOlMUXIE 324,000 284,900 39,100
AlHI 324,000
301 22N = 324,000 284,900 39,100
Albl 324,000
02 MBI 2HASFS(HAAS, XNLHE) 324,000 284,900 39,100
SOl oM X1 324,000,000 324,000
AltI 324,000
CoIESSAHIA X 4,630,720 4,130,760 499,960
= 3,241,490
Altl 694,615
el 694,615
307 212t01& 4,630,720 4,127,760 502,960
= 3,241,490
AlHI 694,615
| 694,615
11 NS =AY X 4,690,720 4,127,760 502,960
OLoINESENIA X2
4,630,720,000& 4,630,720
= 3,241,490
AltI 694,615
-l 694,615
SN0 - SSE SSAE Y AL 203,761 88,592 115,169
= 100,981
Al 52,290
-l 50,490
307 @I2t0| & 203,761 88,592 115,169
[ 100,981
AlHI 52,290
Tl 50,490
05 glzt?(& = 203,761 88,592 115,169
OSHEL - S5 SsHHAAHIA
203,761,000& 203,761
[ 100,981
AlHI 52,290
-l 50,490
olgiiel #5 & ootgs XN 7,221,093 4,738,992 2,482,101
= 2,945,965
AlHI 2,215,364




2A:

Hm: Lol=x =X
&l Lolgitel &5 L ootes XA (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 2,059,764
colgiiel & AtelESAIE & 5,400,000 3,281,900 2,118,100
= 2,700,000
AlHI 1,620,000
Tl 1,080,000
307 elztol & 5,400,000 3,281,900 2,118,100
= 2,700,000
Alt] 1,620,000
Tl 1,080,000
05 2IMRIE =3 5,400,000 3,281,900 2,118,100
OelgXtel AMHXIE 5,400,000,000& 5,400,000
= 2,700,000
Altl 1,620,000
Tl 1,080,000
AILIOIZE 22 241,940 241,940 0
AlHI 205,650
Tl 36,290
307 elztol & 241,940 241,940 0
AltI 205,650
Tl 36,290
05 212t =S 241,940 241,940 0
OAlLIIZE =22 241,940,000 241,940
AlHI 205,650
Tl 36,290
Jd2g dgdl X3 405,600 351,000 54,600
= 202,800
AltI 101,400
-l 101,400
307 21201 & 405,600 351,000 54,600
= 202,800
AltI 101,400
Tl 101,400
1 AMISXAIEEXS 405,600 351,000 54,600
O3z SHJ| 4l X2
360,750,000 360,750
= 180,375
AltI 90, 188
-l 90,187
OZ2Y ot&)| 42l X2
44,850,000 44,850
= 22,425
AltI 1,212
Tl 11,213




2A:

Hm: Lol=x =X
ool ColUTIRl BE 2 oJIEE XY (12l M2
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Z2g 22| XA 86,330 90,800 A4, 470
= 43,165
Al 21,583
4| 21,582
307 QIZ2t01 A 86,330 90,800 A4, 470
= 43,165
AltI 21,583
=t 21,582
11 AMSIESXAEEX 86,330 90,800 A4, 470
OdzY &= X& 86,330,000& 86,330
= 43,165
AlHI 21,583
sl 21,582
d42Y 29 608,400 538,200 70,200
Al 210,600
=4l 397,800
307 QIZ2t01 A 608,400 538,200 70,200
Al 210,600
-4l 397,800
11 AL SXAMEEER 608,400 538,200 70,200
OoZ2g 29 X2 608,400,000& 608,400
Alt] 210,600
sl 397,800
0S8 &d2Y 2% & 66,600 59,400 7,200
307 gI2tol ™ 66,600 59,400 7,200
10 Al S XA EHE2IHIE X 66,600 59,400 7,200
OllsE 324 2¢ X&
66,600,000& 66,600
dZY =3 T2 ) 22|k B 40,781 38,510 2,271
Al 20,391
-4l 20,390
307 212+01 ™ 40,781 38,510 2,271
AltI 20,391
sl 20,390
11 AL =SXAMSEES 40,781 38,510 2,271
OdzY =3 T2 )& 22|kt X
40,781,000& 40,781
AltI 20,391
4| 20,390
Z2Y 243 At 27,800 20,000 7,800
Al 16,300
-4l 11,500
307 212+01 A 27,800 20,000 7,800




2A:

Hm: Lol=x =X
ool LolgTiel #E Y 0DIES XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 16,300
Tl 11,500
11 AMEISXAEEES 27,800 20,000 7,800
OZ=zd gda N& 27,800,000 27,800
AlHI 16,300
Tl 11,500
deg 2l 168,360 77,360 81,000
201 fet= 3| 4,760 4,360 400
01 AtR2te|H] 400 0 400
OZ=gEg ot M= 400,000 400
2 35244l 4,360 4,360 0
OelHYR=s ¥ PC 2+ 3,960,000 3,960
OLEIURXNS0ISHE AYAIE HEESH
400,000& 400
301 EtE NS 23,600 23,000 600
02 NBI2HHSFS(HAAS, XNLHE) 23,600 23,000 600
Og8Z 32¢ ?I& 23,600,000 23,600
401 Al HIZL R 0HbI 80,000 40,000 40,000
01 Al&HI 80,000 40,000 40,000
o324 E= 80,000,000 80,000
405 AHAHE S 50,000 10,000 40,000
01 AL =S F=HI 50,000 10,000 40,000
ogz4g 23 XN¥ 50,000,000 50,000
colus 2SN 32,400 24,000 8,400
AltI 19,440
Tl 12,960
307 @20l & 32,400 24,000 8,400
AlHI 19,440
Tl 12,960
1 AR SXAIEE X 32,400 24,000 8,400
Okxolud 29 K&
300,000 QI+ 122 32,400
Alt] 19,440
Tl 12,960
ol HEANHIA X 162,882 15,882 137,000
203 HR=AH] 2,034 2,034 0
03 A= PR F&IH| 2,034 2,034 0
OLQSXAIE SAHA 2t 2
500,000 *90% 450
OAlot=S0tg SAIH2E 228
630,000 *90% 567
O=XANHA HRFE 500, 0002 *90% 450




FA SAAIS
Y L= B
ool LolgTiel #E Y 0DIES XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OwolEey gz
630,000 *90% 567
301 EtE2 NS 130,848 13,848 117,000
02 A EEHS(FANE, XLETHE) 12,000 12,000 0
ONAS QN AYRE2
1,000,000~ 128 12,000
0 AR=SR2E= 1,848 1,848 0
OLolge As=ees SA
, 0003 x1H 22«12 1,848
14 IIEt2 83 117,000 0 117,000
OXESAXN =& &4l K&
50,0002 x 195« 12& 117,000
307 @I2t0| & 20,000 20,000
04 QIZHHAMAIH 2 £ 20,000 20,000
Ookolel & I8 ozl stitg =Xl
20,000,000 20,000
LolgAE 2N 2,234,019 2,219,958 14,061
= 621,000
Altl 1,613,019
AZ AL 2STHI(HEAIY) 894,843 716,562 178,281
AltI 894,843
307 212+01& 894,843 716,562 178,281
Al 894,843
10 AlISAAEEHE 22X 894,843 716,562 178,281
OZZAIE 23 894,843,000 894,843
AltI 894,843
COIRAAIE SAA SX=E K& 232,560 191,960 40,600
AltI 232,560
307 elztol & 232,560 191,960 40,600
AlH] 232,560
10 AlISXAIZEHE 22X 232,560 191,960 40,600
OLQLQAAIE SAHN SX+E
232,560,000 232,560
Altl 232,560
HAZSH(EHAIE) 690,000 637,222 52,778
= 621,000
AlHI 69,000
301 EtE NS 690,000 637,222 52,778
= 621,000
AltI 69,000
01 AR 2EHSHS(RDNEXRTHE) 690,000 637,222 52,778
OLISXAIE AR HHSO0
690,000,000 690,000
= 621,000




2A:
X XH -
o e

=aak

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| Al 69,000
MOt CI=XIAIE 298| K= 416,616 541,188 A124,572
Al 416,616
307 QI2Hol M 416,616 541,188 A124,572
AlHI 416,616
10 AlSISXAIEHE2ZHIEX 416,616 541,188 A124,572
OIS TIAIE (BN ) 29 XA
416,616,000 416,616
AltI 416,616
LosXa 2% 9 Uegeolg X 1,742,820 1,270,820 472,000
Al 888,220
-4l 854,600
AIGHALE TH = QI =X 2 29 495,480 495,480 0
AltI 353,280
sl 142,200
307 QI2Hol A 495,480 495,480 0
AlHI 353,280
el 142,200
05 QIZIRIErZ 495,480 495,480 0
OABIAIIT 212X 2 22
495,480,000& 495,480
Al 353,280
=4l 142,200
AMESAM =2 2Y 495,480 495,480 0
AltI 353,280
sl 142,200
307 QI2Hol A 495,480 495,480 0
AlHI 353,280
el 142,200
05 QIZIRIErZ 495,480 495,480 0
ORBSAMSTHISK2 2
495,480,000& 495,480
Al 353,280
4| 142,200
AMBASEHECISA 2 29 230,560 230,560 0
Al 163,660
-4 66,900
307 QI2Hol A 230,560 230,560 0
AltI 163,660
el 66,900
05 QIZIRIEr S 230,560 230,560 0
OXEAE oI sX2 29
230,560,000& 230,560
AltI 163,660




A SXAL I

KXH- Lo
o=

(= -~

& Heteolel X

SA - ZE . BR() - HRAR - BES of v G o HIDE2
| | 66,900
o=kl 2 N2 460,000 460,000
401 Al HIZ R 0HbI 460,000 460,000
01 Al&HI 460,000 460,000
Oke=Xal2 HES 460,000,000 460,000
etz SAESAY X2 61,300 49,300 12,000
AlH] 18,000
T4l 43,300
307 elztol & 61,300 49,300 12,000
AlHI 18,000
Tl 43,300
02 2IZHBYAIHE A 14,300 14,300 0
oo=sisd g5 N&
10,000,000& 10,000
Okolusd W=sHl X 4,300,000 4,300
03 M EHE2SHIEX 47,000 36,000 12,000
Olgt=ols 28| XI&
47,000,000& 47,000
AlHI 18,000
Tl 29,000
=X X2 22,687,056 19,453,773 3,233,283
= 12,283,600
AltI 9,257,694
-l 1,145,762
oel=Xx sd 18,829,381 16,655,281 2,174,100
= 12,231,650
AltI 5,493,969
Tl 1,103,762
o= 6,136,886 6,136,886 0
= 4,295,820
AlHI 1,841,066
301 LEtE NS 6,136,886 6,136,886 0
= 4,295,820
AltI 1,841,066
01 AR 2EHSHS(RDNEXRTHE) 6,136,886 6,136,886 0
o= 6, 136,886,000 6,136,886
= 4,295,820
AlHI 1,841,066
== (J1x) 1,140,000 1,140,000 0
= 798,000
Alt] 239,400
Tl 102,600
301 EtE NS 1,140,000 1,140,000 0




A SXAL I

M. HOHeI=X KA
o Hofel=Xl &
SA BB SR(BH) - NSAY - B 0l A
= 798,000
AlHI 239,400
=4l 102,600
01 Al EEE£HS(2DEXME) 1,140,000 1,140,000
OFM=E(II=x) 1, 140,000,000& 1,140,000
= 798,000
AlHI 239,400
=4l 102,600
H=HXHARAS) 502,100 502,100
= 351,470
AlHI 105,441
=4l 45,189
301 LEtENZ 502,100 502,100
= 351,470
AlH| 105,441
| 45,189
01 Al BEE 42 (2DEXE) 502,100 502,100
OZOH4=SH(XHa<]) 502,100,000& 502,100
= 351,470
Albl 105,441
sl 45,189
ZoeIe =X 380,000 380,000
AlHI 380,000
301 EtEXZ 380,000 380,000
Albl 380,000
02 AISIBEESHS(FHLHS, NYME) 380,000 380,000
O&oe! e+ 380,000,000 380,000
AlHI 380,000
ZOCIOHY =4t 2 U= XJAZ XH 30,000 30,000
301 LetENZ 30,000 30,000
2 AN BEH>HS(HUHS, NYHA) 30,000 30,000
OFOeIOIE &4t 2 &5 X3z A&
30,000,000& 30,000
g Z&oiel sadlE X 6,000 6,000
= 4,200
AlHI 1,800
301 LEBNZ 6,000 6,000
= 4,200
AlHI 1,800
01 Al BEE 462 (2DEXE) 6,000 6,000
OWAEFOC! SIS XIJ AL
1,000,000 6 6,000
= 4,200




2A:

SAIALS Dt

M ZOI=X X2
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 1,800
o 2l=dl X 207,99% 207,9% 0
= 166,39%6
AltI 41,599
308 XXM SOIA 207,99% 207,99% 0
= 166, 3%
AltI 41,599
11 SIS0t 4 A AS A 207,9% 207,995 0
OZofel 2l=Hl X2 207,995,000 207,99
= 166,396
Altl 41,599
NASEOHQ! MEH] & A X1 10,000 10,000 0
= 5,000
AlHI 5,000
301 EtE NS 10,000 10,000 0
= 5,000
AlH] 5,000
01 AR 2EHSHS(RDNEXRTHE) 10,000 10,000 0
OMASZOQ el ¥ Al X
10,000,000 10,000
= 5,000
Albl 5,000
ZOHRUERIDN(THEERDF) e 12,930 12,930 0
= 10,344
-l 2,586
301 EtE NS 12,930 12,930 0
= 10,344
Tl 2,586
01 AR 2EHSHS(RNEXRTH) 12,930 12,930 0
OEOMNUERIDIN(MEEERIF) ne
12,930,000 12,930
= 10,344
Tl 2,586
Zofel etEdxte] X (HLH) 518,644 518,644 0
= 259,322
AlH] 259,322
301 EetE NS 518,644 518,644 0
= 259,322
AlHI 259,322
01 Al 2E A S(SREEME) 518,644 518,644 0
OFope! Leraatel N3 (HLM)
518,644,000 518,644
= 259,322
AltI 259,322




2A:
X XH -
o e

=aak

SAIALS Dt
F0I=X X

=X &

o

SA - ZE . BR() - HRAR - BES of v G o HIDE2
ZHoHe! et Atel KR (AIZEM) 67,074 67,074 0
= 33,537
Albl 33,537
301 EtE N = 67,074 67,074 0
= 33,537
AlH] 33,537
01 Al EE A S (2 RNEXMA) 67,074 67,074 0
OFope! LeraA el X (AlIZHH)
67,074,000 67,074
= 33,537
AltI 33,537
Zofel SXgextel XA 238,680 238,680 0
= 119,340
Altl 119,340
301 EtE N = 238,680 238,680 0
= 119,340
Al 119,340
01 Al EE A S (2 RDEXMA) 238,680 238,680 0
OZojel SXEgLAtel A
238,680,000 238,680
= 119,340
AlHI 119,340
AZIZ0HIQHOFAF TiFA 140,000 0 140,000
= 112,000
AlHI 28,000
307 elztol & 140,000 0 140,000
= 112,000
Al 28,000
05 212+ =S 140,000 0 140,000
OAIZZ 0 OHOFAF THAALS
140,000,000& 140,000
= 112,000
AlHI 28,000
ZoHI S X2 (HHRH) 5,520,000 5,520,000 0
= 3,864,000
AlHI 1,104,000
Tl 552,000
308 AFAIEHMSOIE 5,520,000 5,520,000 0
= 3,864,000
AltI 1,104,000
Tl 562,000
1 SISt AS A 5,520,000 5,520,000 0
OH NS XIR (HIRH)
5,520,000,000& 5,520,000




2A:

SAIALS Dt

M ZOI=X X2
oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 3,864,000
AltI 1,104,000
-l 552,000

ZOHI2SXI& (AlHI) 403,218 403,218 0
Al 403,218

308 AHAIEMSOIE 403,218 403,218 0
AltI 403,218

11 SIS0t 4 A AS A 403,218 403,218 0
OZoH &S KA (AIHI) 403,218,000 403,218
AlHI 403,218

BSEXRIHSH 5,370 5,370 0
= 3,759
AltI 1,611

308 XXM SOl 5,370 5,370 0
= 3,759
Albl 1,611

1 SIS0t EAS A 5,370 5,370 0
OESEXRIHEH 5,370,000& 5,370
= 3,759
AlH] 1,611

g AEIA XIS 1,189,878 1,189,878 0
= 832,915
AltI 366,963

308 XXM SOIA 1,189,878 1,189,878 0
= 832,915
AlHI 366,963

1 SIS0t oA AS A 1,189,878 1,189,878 0
OogagaAtlA X 1,189,878,000& 1,189,878
= 832,915
Al 366,963

ANEE HIRH A& 2,000 2,193 A193
= 1,400
AlH] 600

308 XXM SOIH 2,000 2,193 A193
= 1,400
Altl 600

11 SIS0 EAS A 2,000 2,193 A193
odoegaXd 2,000,000& 2,000
= 1,400
Altl 600

LEHY FRAEANE 4,000 4,000 0
= 2,800
AlH] 1,200




2A:

X XH -
o=

SAIALS Dt
F0I=X X

o

ol OIS S EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 4,000 4,000 0
= 2,800
Albl 1,200
1 SIS0t HAS A 4,000 4,000 0
ORI 22 M2laE XD
4,000,000 4,000
= 2,800
AlHI 1,200
LEHQ FHESHHIAXRA 1,674,481 101,643 1,572,838
= 1,172,137
AltI 251,172
-l 251,172
308 AFXIEMSOIE 1,674,481 101,643 1,572,838
= 1,172,137
AlHI 251,172
Tl 251,172
11 S| 2S04 ASAIE 1,674,481 101,643 1,572,838
OYLHMQ ZAHEAHHIA X2
1,674,481,000& 1,674,481
= 1,172,137
AlHI 251,172
Tl 251,172
LN =LESAHHIA AIHIFIIKIE ALY 20,000 40,820 120,820
AltI 20,000
308 XXM SOl 20,000 40,820 20,820
AlHI 20,000
11 SI[2S0 e YA AS A 20,000 40,820 20,820
O F2=SAHEIA AIBIZ=IIXIEA
20,000,000 20,000
AlH] 20,000
EA4E LR BUFESAHHIA XA 284,586 78,608 205,978
= 199,210
AltI 85,376
308 XXM SOIA 284,586 78,608 205,978
= 199,210
AlHI 85,376
11 SIS0t A AS A 284,586 78,608 205,978
OFad LI guzasAH A~ XEH
284,586,000 284,586
= 199,210
Albl 85,376
FEHES B2 19,215 19,242 N2T
201 et 3| 18,675 18,675 0
01 At22t2l] 2,900 2,900 0




2A:

SAIALS Dt

M ZOI=X X2
oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol EAt 22AH2 OHAZHAF K=
15,0003 20 300
Ol ASXHEAl M=
1,000 *2,0000HK 2,000
OH2AHONQI 2EIEA ST
100,000 *42] 400
OAIZ &0l HXAEIZ M
8003 *250H 200
02 S3=gHl 15,775 15,775 0
o=REz 14,875,000& 14,875
Ods2d+ S| =AE=+
900,000 900
203 HR=H] 540 567 N2T
03 A=A R =NH] 540 567 avirg
OHOHAEH & AIESALA 213
600,000 *90% 540
oIS 2SN 10,000 10,000 0
307 @120l & 10,000 10,000
02 QA HAIEE X 10,000 10,000
oeI=sd s
10,000,000& 10,000
ZOHRIE Al M= AL 130,000 0 130,000
Alt] 39,000
Tl 91,000
101 @124H| 128,550 0 128,550
AlHI 38,565
Tl 89,985
MU IIRINZZE2NSES 128,550 0 128,550
@)uiFal:] 128,550,000 128,550
AlHI 38,565
-l 89,985
201 =3 1,450 0 1,450
Al 435
Tl 1,015
01 AtR2t2ltl 1,450 0 1,450
Oggrzg] 145,000 10 1,450
AlH] 435
T4l 1,015
ZoHe! =2t AABSA 2N 30,000 30,000 0
AlHI 30,000
307 elztol & 30,000 30,000 0
AlH] 30,000
05 glt?(& = 30,000 30,000 0




2A:

X XH -
o=

SAIALS Dt
I =X X

Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBMel LT INPEL 2SN
30,000,000& 30,000
AlHI 30,000
ST OF2t=3lL2AHIA 146,324 0 146,324
AlH] 146,324
307 @12t0| & 146,324 0 146,324
Altl 146,324
11 AMEISXAIEEES 146,324 0 146,324
OSSHM ORt=2l Y2 A~
146,324,0002 146,324
AltI 146,324
ZOHA=XAIE K& 3,857,675 2,798,492 1,069,183
= 51,950
Alt] 3,763,725
Tl 42,000
Zojelsx2 2 X 997,666 997,666 0
AlH] 967,666
T4l 30,000
307 elztol & 997,666 997,666 0
AlHI 967,666
Tl 30,000
04 QIZHHAIAIH 2 £ 30,000 30,000 0
OFel HASA =M A2
30,000,000 30,000
05 2IR”tRIE = 97,666 967,666 0
Ooel=x2 2
967,666,000 967,666
AlH] 97,666
ofelsia S=s¢ 28X 37,600 42,100 24,500
Al 37,600
307 el2to| & 37,600 42,100 24,500
AlHI 37,600
05 2ItRIE =2 37,600 42,100 24,500
OAtot= o= == 28X
37,600,000 37,600
AlHI 37,600
el =UESAIE 2N 858,074 858,074 0
AlH] 858,074
307 @120l & 858,074 858,074 0
AlHI 858,074
10 Al SAAIEEHE 22X 858,074 858,074 0
O =2+ EsSAld 2N
868,074,000 868,074
AlHI 858,074




S =XIART
S HOHRI=X XA
Rl ZOHI=SXIAIE X (SH9 H2)
SA - BE - 9(3H) - KA - BES Ol &t G o B2
ZOHIXIGHel Z2EAET 2 XA 40,375 37,563 2,812
Al 28,375
el 12,000
307 QI2Hol M 40,375 37,563 2,812
Al 28,375
el 12,000
10 AlSISEXAEHE2EHIEX 40,375 37,563 2,812
OHOIXIGEel 22 4HE 2
40,375,000& 40,375
Al 28,375
=t 12,000
Zofel=0EGHYH 2R 179,798 0 179,798
Al 179,798
307 212t01& 179,798 0 179,798
Al 179,798
10 Al S XAIEEHE 22X 179,798 0 179,798
OO =HSHdH 2SN
179,798,000& 179,798
Al 179,798
NI LATHEAN S (BESHAE) 2FXA 941,351 208,077 733,274
Al 941,351
307 2I2+01™ 91,351 208,077 733,274
Al 941,351
10 AlZISEXAEHE2EHIEX 91,351 208,077 733,274
O A MNATHEAI L (ESAYE) 2N
941,351,000& 941,351
Al 941,351
Ffelss4HEIE 2R 541,424 381,625 159,799
Al 541,424
307 QI2HO| A 541,424 381,625 159,799
Al 541,424
10 AlZISXAEHE2EHIEX 541,424 381,625 159,799
OFMHUSSHEINE 2L
541,424,000 541,424
Al 541,424
SSHL AEHMEdy 2SR 129,875 149,875 220,000
= 51,950
AlHI 77,925
307 2I2+0l ™ 129,875 149,875 220,000
= 51,950
Al 77,925
10 AlRIZXAIEHE 2FHIEx 129,875 149,875 220,000
OSSZMY NHUSHEH 2EXE
129,875,000& 129,875




2A:

X XH -
o=

SAIALS Dt
oeI=X X2

Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 51,950
AltI 77,925
STTHC NHHMSHE 2SR (AHIFI 20,000 0 20,000
AltI 20,000
307 212+01& 20,000 0 20,000
Alt] 20,000
10 AlISAAZEE 22X 20,000 0 20,000
ST NHHHHE 2SI (AHIF
ot) 20,000,000& 20,000
Albl 20,000
AL I w=cldle] 2SN 91,512 91,512 0
AltI 91,512
307 lztol & 91,512 91,512 0
AlHI 91,512
05 git?(& = 91,512 91,512 0
OZMAEXRI D=2l 24
91,512,000 91,512
Alt] 91,512
O HF=AIE EI2F0HQ NEEHES A 20,000 14,000 6,000
Albl 20,000
301 EtE N = 20,000 14,000 6.000
AltI 20,000
02 MBI 2HHSFHS(HAANS, XLHE) 20,000 14,000 6.000
O OHANFAIE EIAFOHQ NBEES X
& 20,000,000 20,000
AlHI 20,000
F4EXE € 25 1,612,636 1,509,289 103,347
= 595,904
Alt] 377,515
Tl 639,217
E=ENCIE NS 1,612,636 1,509,289 103,347
= 595,904
Altl 377,515
Tl 639,217
AEEEEY 2 256,667 232,158 24,509
307 212+01& 256,667 212,158 44,509
05 2ItRIE = 256,667 212,158 44,509
OFAEESY 22 256,666,900 256,667
FAEH NS00I 2 178,222 160,702 17,520
= 89,111
Alt] 44,5%
Tl 44,555
307 lztol & 178,222 160,702 17,520




2A:
X XH -
o e

=aak

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 89,11
Altl 44,556
=t 44,555
05 It/ 178,222 160,702 17,520
OFAEYUZ0otH 0l 29
178,222,000 178,222
= 89,11
Altl 44,556
=t 44,555
HAEY NS00I SAERE X2 5,880 5,880 0
AlHI 5,880
307 212+01™ 5,880 5,880 0
Altl 5,880
05 CIZtRIErZ 5,880 5,880 0
OFEAHS S O0IPHEI0I SALR X
5,880,000& 5,880
Altl 5,880
HAEAXEAF BHXIXI R 24,408 23,520 888
= 12,204
Altl 12,204
307 212+01 ™ 24,408 23,520 888
= 12,204
AlBI 12,204
05 QIZIRIErZ 24,408 23,520 888
OFEAEXT AL BHXIKIA 24,408,000 24,408
= 12,204
Altl 12,204
HAEHSEHO0Y 29 XA 20,500 20,500 0
= 8,200
Altl 6,150
=t 6,150
307 212+01™ 20,500 20,500 0
= 8,200
Altl 6,150
sl 6,150
11 AL =SXAMSEES 20,500 20,500 0
OFALE2E0Y 28 XA
20,500,000& 20,500
= 8,200
Altl 6,150
sl 6,150
HAaES0k2 X 23,870 23,870 0
= 9,550
Altl 7,160




FA SAAIS
ma: HAENR L 25
gelr @Al SX8d (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 7,160
307 gl2tol & 23,870 23,870 0
= 9,550
AlHI 7,160
Tl 7,160
11 AMEISXAIEEXS 23,870 23,870 0
O8AESO0IEl A& 23,870,000& 23,870
= 9,550
Alt] 7,160
Tl 7,160
FaEFRE 28 N 2,800 2,800 0
= 1,400
Tl 1,400
307 gl2tol & 2,800 2,800 0
= 1,400
-l 1,400
05 git?(& = 2,800 2,800 0
OBAEFCI?ING 2% X2
2,800,000 2,800
= 1,400
Tl 1,400
ardsdAd 2922 298 X2 2,000 2,000 0
= 1,000
Al 1,000
307 gl2to| & 2,000 2,000 0
= 1,000
AlHI 1,000
11 AMISXAIEEX 2,000 2,000 0
OFAH +eAE 2E9As 28X
2,000,000& 2,000
= 1,000
AltI 1,000
HEEAE 2HAAMUESE K& 240,990 130,752 110,238
= 120,495
Al 60,248
Tl 60,247
308 XXM SOIA 240,990 130,752 110,238
= 120,495
AlHI 60,248
Tl 60,247
11 SI[2S0 e EAS A 240,990 130,752 110,238
ONdEAE 2AAMES K&
240,990,000 240,990
= 120,495




FA SAAIS
ma: HAENR L 25
gelr @Al SX8d (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 60,248
Tl 60,247
FA44E SEXE A 16,200 16,200 0
= 11,340
Al 4,860
301 EtE NS 16,200 16,200 0
= 11,340
AlHI 4,860
01 Al EEHS(FRDEXMH) 16,200 16,200 0
OFAH SEXE AL 16,200,000& 16,200
= 11,340
AltI 4,860
AT HEAY 100,000 100,000 0
= 50,000
Albl 25,000
Tl 25,000
201 2= 28,280 56,000 N27,720
= 14,140
AltI 7,070
-l 7,070
01 AtR2t2|HI 28,280 26,000 2,280
OFAHAHMY S AIY Z208 S
28,280,000 28,280
= 14,140
AltI 7,070
-l 7,070
202 04| 6,720 0 6,720
= 3,360
AlHI 1,680
-l 1,680
01 2LHA LI 6,720 0 6,720
OLDRIIEAE Atell2el XISH(Z2UEE)
280,000 2F 122 6.720
= 3,360
AltI 1,680
Tl 1,680
203 =4l 2,000 2,400 400
= 1,000
AlH] 500
Tl 500
03 A= PR FA| 2,000 2,400 A400
OEAHOINY YRz 2,000,002 2,000
= 1,000




SN =XAILD
HH: HAGENR Y €5
ool HAW =XSA (g

SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
AlH] 500
- 500
207 AN 20,000 0 20,000
= 10,000
Al 5,000
- 5,000
01 H1E4H] 20,000 0 20,000
OfIIIEAE AEIZA 20,000,000 20,000
= 10,000
Albl 5,000
- 5,000
301 EtE NS 43,000 356,000 8,000
= 21,500
Altl 10,750
- 10,750
01 Al 2E A S(SRNEXMH) 43,000 35,000 8,000
ORE HHIA o3 L A2
43,000,000 43,000
= 21,500
AlHI 10,750
el 10,750
BAHOIMA HAHSE At 2IALY 13,800 60,648 146,848
= 6,900
AlHI 3,450
el 3,450
101 e124d| 13,800 60,648 N\46,848
= 6,900
AltI 3,450
Tl 3,450
04 JIZtN2Z2 XS+ 13,800 60,648 N\46,848
OFALASE A ZA2IAL Q12481 (12)
13,800,000& 13,800
= 6,900
AltI 3,450
Tl 3,450
BAEASE AL ZIA JI2283 A& 3,242 6,484 N3,242
Albl 1,621
- 1,621
101 e124d| 3,242 6,484 N3,242
Altl 1,621
- 1,621
04 JIZtNZ2E2XSE = 3,242 6,484 N3,242
OFATHSEAMAIZCIAL J2REZ X
3,242,000 3,242




2A:

Mo HAEKE ¥ ©5
=2l Fad SXsd (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 1,621
-4l 1,621
FAUEoMA NDIEAE RFEZZ2H 50,000 50,000 0
= 25,000
AlHI 12,500
-4l 12,500
307 2I2+01A 50,000 50,000 0
= 25,000
Al 12,500
4| 12,500
05 2I2tRES 50,000 50,000 0
OFAEHINY NPDEAHE UFHEZ )
= 50,000,000& 50,000
= 25,000
Altl 12,500
=4l 12,500
HAUMY 2A(FAEAGEEXHH) 98,650 98,650 0
= 49,325
AltI 24,663
4| 24,662
307 gI2tol M 98,650 98,650 0
= 49,325
AlHI 24,663
=l 24,662
05 QIZtRIErZ 98,650 98,650 0
OFAEHNY 29 98,650,000& 98,650
= 49,325
AltI 24,663
sl 24,662
HAEHOIMA X|YASAIY (HAEHAESTIME) 159,012 163,340 A4,328
AltI 79,506
4| 79,506
307 gI2tol ™ 159,012 163,340 A4,328
AlHI 79,506
-4l 79,506
05 2I2tRES 159,012 163,340 A4,328
OFAFHIMA XA A
159,012,000& 159,012
Alt] 79,506
sl 79,506
HAESUI A (RAENME=RINEH) 167,520 167,520 0
= 83,760
AltI 41,880




2A:

Mo HaEXd 2 €5
=2l Fad SXsd (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
sl 41,880
307 gI2Hol M 167,520 167,520 0
= 83,760
AltI 41,880
sl 41,880
05 QIZtRIEIS 167,520 167,520 0
OFLESEHAL A 167,520,000& 167,520
= 83,760
Al 41,880
-4l 41,880
FAESEHL D222 XA 22,344 22,344 0
AlHI 11,172
sl 11,172
307 QI2Hol M 22,344 22,344 0
AltI 11,172
=t 11,172
05 QIZtRIErZ 22,344 22,344 0
OFLAESEH} D 22E=2 Xd
22,344,000 22,344
Al 11,172
-4l 11,172
st g HAE XJAS 167,480 167,480 0
= 117,236
AlHI 25,122
-4l 25,122
307 212+01 A 167,480 167,480 0
= 117,236
Al 25,122
4| 25,122
05 2I2tRES 167,480 167,480 0
Ot & Fad X2 167,480,000& 167,480
= 117,236
AltI 25,122
=t 25,122
s g ¥AE X3 2% X3 5,100 5,100 0
307 QIZ2t01 A 5,100 5,100
05 QIZtRES 5,100 5,100
Ot % FAEX2HEH 22d| X2
5,100,000& 5,100
St g HAYE SAHAL HMHA =5 K& 4,800 0 4,800
AlHI 2,400
sl 2,400
307 QI2Hol ™ 4,800 0 4,800




2A: SXALE
HY: HAUTE L 25
=2l Fad SXsd (Gt H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
AlbI 2,400
-4l 2,400
05 CIZtRIErZ 4,800 0 4,800
Ot % FAEXJHEH SAK HRHME
=g K& 4,800,000& 4,800
Altl 2,400
sl 2,400
St g AW A AJAS 20,766 20,766 0
= 10,383
Altl 5,192
sl 5,191
307 212+01™ 20,766 20,766 0
= 10,383
Alt| 5,192
-4 5,191
05 QIZtRIEr 20,766 20,766 0
Ostm 9 BAW 3AlH| X8
20,766,000& 20,766
= 10,383
Albl 5192
-4l 5,191
s 5 FAE SAH| It XIF A 2,951 2,951 0
Altl 2,951
307 2I2+01A 2,951 2,951 0
Albl 2,951
05 QIZtRIEr S 2,951 2,951 0
OBl % HAE SAH| %I} NI
2,91,000& 2,951
Albl 2,951
HaE B85 14,234 14,424 A190
201 B2 AL 11,334 11,853 AbB19
01 A=R2teld| 10,173 10,523 A350
OHE%0| sotS A ME
1000252, 700 2,700
OR#EAE S BEE X
14,3003 * 159 215
OF~EET &3 5,400,000& 5,400
OHAEXCHR ASE M
10,000 x40H 400
OHELAEXNERAA RIS ME
10,0003 40X 400
OM&Z 0CRLAXIA HIZ 260,000 260
OFxd 2228 S 798,000 798
02 S=29| 1,161 1,330 2169




SN =XAILD
MM ZAUXY U 25

ol HAW =XEX (crol: m2)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OHER0| S3IEA L3 2HL3 S
4302, 70004 1,161
203 YR =&IH| 900 891
03 AIZHF=EHR2=KRIH| 900 891
OFAE HR2FA 500, 0002 *90% 450
OFAGED |2 AL 2HES]
500, 000& *90% 450
301 LEtEXZ 2,000 1,680 320
14 J|EIE2 A= 2,000 1,680 320
OFAE oA AlDQI BA
100,000 *43| 400
OFAXEXNERE KA ststHS ZAH|
8,000& x200™ 1,600
HAGX TSSO K& 11,200 11,200 0
307 2I12+0| & 11,200 11,200
02 QIZFEBAMAIHE X 11,200 11,200
OFAUEXIECEo3 XA
700,000 1600 2 11,200
HMSAAH|(SXIAL ) 102,600 63,672 33,928
= 26,184
AlHI 13,092
2| 63,324
J|I2&b| 102,600 63,672 33,928
= 26,184
AlHI 13,092
2| 63,324
J|2& | 50,232 63,672 A13,440
201 LBr2AH| 13,392 13,392 0
01 AFR22teltl 13,392 13,392 0
EN2HE+EH 6,480,000 6,480
OJ |22+ S| 6,912,000 6,912
202 044| 33,600 47,040 A 13,440
01 2L Y| 33,600 47,040 13,440
OJ|=2g 248 (d|
280,000 *20H x6 33,600
203 PR =XIH| 3,240 3,240
M4 EASHA 2K 3,240 3,240
ORANSIHE R 3,600, 000& *90% 3,240
QIHSAHH|(HAENMA HAESEAIZ2IAIY) 52,368 0 52,368
= 26,184
AlHI 13,092
sl 13,092
101 2124d| 52,368 0 52,368
= 26,184




S ST AT
HE: B2 AU (ZXIAD

SoT oo

&l D122 (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 13,092
-4l 13,092
02 JIEtA S 52,368 0 52,368
OFELESEAtdZElAL 2124]
26,184,000 & x2H 52,368
= 26,184
AlHI 13,092

- 13,092




